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I'll be taking attendance with a screen shot of those in attendance. I'll let you know
when I'm taking the screenshot, usually in the first 5 or 10 minutes of class. If you
didn't hear me announce the roll-taking screen shot, make sure you're on the
attendance sheet with a comment in the chat or by sticking around and saying

something.
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Right Triangle Definitions of Trigonometric Functions
Let & be an acure angle of a right tnangle. The six trigonometric function
the angle & are defined below. (Note that the functions in the second row
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+ 03 points LarTrig10 1.3.075. [3881624]

The Johnstown Inclined Plane in Pennsylvania is one of the longest and steepest hoists in the world. The railway cars travel a
distance of 896.5 feet at an angle of approximately 35.4°, rising to a height of 1693.5 feet above sea level. (Round your
answers to two decimal places.)
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{a) Find the vertical rise of the inclined plane,
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(b) Find the elevation of the lower end of the inclined plane.
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() The cars move up the mountain at a rate of 300 feet per minute. Find the rate at which they rise vertically.
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In traveling across flat land, you see a mountain directly in front of you. Its angle of elevation (to the peak) is 3.5°. After you
drive 15 miles closer to the mountain, the angle of elevation is 9° (see figure). Approximate the height of the mountain,
{Reund your answer to one decimal place. )
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Section 1.4 extends 1.3 from the 1st quadrant to all 4 quadrants.
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